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7. (a) Find J.x31nxdx.
[4]
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(b)  Use the substitution « = 2x — 3 to evaluate J. x(2x—3)* dx. [5]
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7. (a) Find jxsiandx. [4]

(b)  Use the substitution u = 5 — x2 to evaluate
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7. (a) Find Jxe’z"' dx. [4]

(b)  Use the substitution =1+ 3Inx to evaluate
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Give your answer correct to four decimal places. 4]
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7. (a) Find j(}x— 1)cos2x dx. [

(b)  Use the substitution # = 2x + 1 to evaluate
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7. (a) Find Jx“anxdx_ [4]

(b)  Use the substitution # = 10cosx — 1 to evaluate

¥
j3 J(10cosx —1) sinxdx.
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(a) Use the substitution u = 12 — x3 to evaluate
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(b) () Find J.xcosbcdx.
(i)  Use the result of (h)(i) to find

J.x sin?xdx.
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6. (a Find J(Zx +1)e3¥dx. [4]
(b) Use the substitution u = 4 + Stanx to evaluate
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7. (3 Find J.%" dx. [4]
(b) Use the substitution u = x2 + 1 to evaluate
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7. (a) Find J.(4x+ l)e4“'_5dx. Simplify your answer. 4]

(k) @

(ii)

Use the substitution x = 4siné to show that

232 xz a
— dx= bsin’0do,
_[0 ./(16—x2) .[) "

where a and b are constants whose values are to be determined.

Hence, evaluate

Give your answer in the form ¢ + d, where ¢ and d are integers whose values are
to be determined. [8]
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7. (a) Use the substitution u = 2x — 1 to evaluate

1
J. x(2x— l)gdx . [5]

0
(b) (1) Find J.XCOSZX de . [4]
(11)  Use the result of (h)(1) to find

J.xcoszx dv . [3]
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7. (a) Find jxlnxdx . (5]
(b)  Use the substitution « = 2sinx + 3 to evaluate

T
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(b)

Find j Clovde 4]

Use the substitution x = 2sin@ to show that
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J. X dr=| ksin’6d6o,
0 452 0

where the values of @ and & are to be determined.

NER
Hence, or otherwise, evaluate J. dx . [8]
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(b)

Find I (3x + 1) e>dx.

Use the substitution x = 3sinf to show that
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.[5\/9_x2dx =_f kcos’0d6 -

where the values of the constants «, » and & are to be found.
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Hence evaluate I V9 —x%dx .
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6. (a) Find J.(x+ 3)e?* dx.

(b)  Use the substitution # = 2cosx + 1 to evaluate
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